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OgRotzzda 2 A25 72¢
500,000 *42] 2,000
ORSRA DT I 7Y
13,0003 » 1202 1,560
OdIE 2 (38 88, SEHsSE S) &
Q= 9 2,500,000 2,500
OdH cIEH & 223 X
3,000,000 3,000
OHlE a8l 100,000 *5H 500
OSHE dRu= FAH]
100,000 7 & *13] 700
O=43 34 49 500,000 <22 1,000
OF0ISeXHE 22 =8 Sl
8,000& x4+« 12& 3,072
2 s5=34l 88,659 67,875 20,784
oMIIeza 1,900,000& 122 22,800
Odotr=es=s 300,000 * 122 3,600
OtAR=3 8,200,000 8,200
OXNSHMHEELEH k=
30,0002~ 12 360
Odaes 100,000& * 12 1,200
OA0IE &S & Y 8=
320,000& * 128 3,840
Os Mg 35,0002 %12 35
OAgotm 2| X &2/l
60,0002 %13 60
Od=AlZ+ SOISEA2MH S|
800,000& 12 800
OFEE AAE HloAd B2
300, 000& = 10CH 3,000
OditdHl R HEEX RAEs
130,000& * 12 1,560
OUERIAEH KA+
120,000& * 122 1,440
O=StEHl KX 190,000« 12& 2,280
OZHOIXl FXI=Z== 6,000,000 * 14 6,000
OSHIOIAl 2cRE MHIA 018&
1,265,280« 12& 15,184




2A:

OtsE2=u
M B2. 1= X9
o ISEXIH EER=E)
H - B8 S9l(3) - NRAY - BES ol ke G o HlmS2
OiAb T2 &M 28le
600,000& *23] 1,200
OS0IEEXJHH 5 ZE
1,500,000 *13] 1,500
OAIZEHl SAHI(s0IMEs, SHE)
3,000,0002 3,000
OFIIAl| orEe| 8
230,000 123 2,760
OAg otMate| 2 230,000 x 123 2,760
Osdll gA2e 849
170,000& * 12& 2,040
OfRo1Zd 84 170,000& * 12& 2,040
Ooi=LH =24 150,000& «12& 1,800
OEs =Y 600,000& x23] 1,200
03 ALZ | 10,000 10,000 0
ORXZE & g3 3¢
2,000,000 52| 10,000
202 Ot 5,600 5,600
01 =WOdbI 5,600 5,600
OF0HAJHEHE HRFE 0|
5,000,002 5,000
OS0INHEE SLEF oYl (22R)
50,0003 *12& 600
301 LEBNZ 34,130 33,410 720
14 JIEt2 43 34,130 33,410 720
OEWAA g LAY
230,000& *243] 5,520
ORZUSE ZAE 230,000 *73] 1,610
ORI ZAE
230,000 363 8,280
OLZLId oz AAY
60,0002+ 162+ 12& 11,520
OR2-1tH MEZZ 8 2At=s=Y
7,200,000& 7,200
401 A& B2 20HY| 20,000 10,000 10,000
01 AlEHI 20,000 10,000 10,000
Od2 75Xl B 20,000,000 14| 20,000
405 KHHE SH| 6,000 7,000 A1,000
01 ML SEFHSHI 6,000 7,000 21,000
Ou=, &z 2 3,000,000& 3,000
OJ13AHd Hsdl 3,000,000& 3,000
SROISEAJHE 2H(HEAIY) 20,000 20,000 0
& 20,000
201 B2 AL| 8,060 8,060 0
= 8,060




FA OS2
Hu: BRI X
chel: SOLEE XS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 8,060 8,060 0
O3SRZUE 25 FLHI(HE2EH)
8,060,000& 8,060
= 8,060
301 EtE NS 11,940 11,940 0
= 11,940
14 0Bt 2as 11,940 11,940 0
OSSRI2UT A=E(HE2CH)
11,940,000 11,940
< 11,940
AW AE Q1218 X2 420,000 420,000 0
= 210,000
= 63,000
Al 147,000
101 @12A4H| 418,000 415,000 3,000
= 209,000
= 62,700
Al 146,300
MU ORINZENSES 418,000 415,000 3,000
OUHMIwWAL e124d| 418,000
= 209,000
< 62,700
Al 146,300
201 Ler23| 2,000 5,000 23,000
= 1,000
< 300
Al 700
01 At2telt] 2,000 5,000 /3,000
OUH WAL At 2 AtR 22| 2,000
= 1,000
== 300
Al 700
O2l01E HMwAF SALA =X 11,400 11,400 0
= 3,420
Al 7,980
301 EtE N = 11,400 11,400 0
= 3,420
Al 7,980
14 DBt 2 a3 11,400 11,400 0
OG2l0lE UMwA SAAF =&
50,0002 x19E 122 11,400
== 3,420
Al 7,980
ols=Xsd 3,564,878 2,998,653 566,225




FA OtSES
LIV EEYESS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,228,848
[ 278,504
= 405,029
Al 1,652,497
Ols=XIAIE X3 1,566,748 1,316,906 249,842
= 408,792
< 243,382
Al 914,574
LES0ts 188 2SN 526,200 317,936 208,264
= 210,480
== 94,718
Al 221,002
307 212+01& 526,200 317,936 208,264
= 210,480
= 94,718
Al 221,002
10 AlRISAAIEEHE 2 EX 526,200 317,936 208,264
OREa0ts O88 A2
503,640,000 503,640
= 201,45
= 90,656
Al 211,528
0RL30s 188 23|
22,560,000 22,560
= 9,024
= 4,062
Al 9,474
P30t 188 MHAA 135,940 145,666 N9,726
< 40,782
Al 95,158
307 elztol & 135,940 145,666 N9,726
= 40,782
Al 95,158
10 Al SXAAIEEHE 22X 135,940 145,666 N9, 726
OREs0ts I8 2Hl FIHNA(SE
=g, QIAHIEHE, FIHE)
113,740,000& 113,740
= 34,122
Al 79,618
ORESOls 88 MEdEts XY
22,200,000 22,200
< 6,660
Al 15,540
S lolotS & 2SX&2 515,468 494,044 21,424




SN OS2SR
g OlIs=Asd
=el: Ol SSXAE X2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 198,312
=S 65,400
Al 251,756
307 @I2to| & 515,468 494,044 21,424
= 198,312
= 65,400
Al 251,75
10 Al SAAEEHE 22X 515,468 494,044 21,424
OBt ITISHOIS AE 2EX2
495,788,000 495,788
= 198,312
= 59,496
Al 237,980
OSIHTITHOIE 2IEf 2% XK (SAK
=g, SE€E) 19,680,000& 19,680
< 5,904
Al 13,776
OlSSSAIE 2gH X2 389,140 369,260 29,880
= 42,482
Al 346,658
307 elztol & 389, 140 369,260 29,880
= 42,482
Al 346,658
10 AlISAAZEE 22X 389,140 359,260 29,880
O0ts¢EAIE 28H] A&
367,300,000 367,300
== 36,730
Al 330,570
OO0ISLSAIE SAHL S8
11,880,000 11,880
= 3,564
Al 8,316
OO0ts¢sAIE ZZ2]8H|
4,000,000 4,000
== 400
Al 3,600
OOtSSAIE dEots N3
4,340,000& 4,340
= 1,302
Al 3,038
OLFAE LAESHIE 1,620,000 1,620
s 486
Al 1,134
Ols2s NEX& 1,915,002 1,284,547 630,455
= 820,056
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SN OS2SR
g OlIs=Asd
tel: Ots2s NEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 12,000
Al 28,000
JHERIEOts 25 X2 200,922 217,598 216,676
= 21,144
Al 179,778
301 EtE NS 171,280 196,280 225,000
=S 21,144
Al 150,136
02 ARSI 2E A S(FANS, XLETHE) 171,280 0 171,280
OJIg?E0ts dEE2xs K&
151,200,000 151,200
< 15,120
Al 136,080
OIEAMU fI23 K&
8,880,000& 8,880
= 2,664
Al 6,216
OJtgfIg0ts tetdstii= X2
7,500,000 7,500
== 2,250
Al 5,250
O™ ASAMU B& M=Hl N3
3,700,000& 3,700
= 1,110
Al 2,590
308 AFAIEHMSOIE 29,642 21,318 8,324
07 AXEH2LFE= 29,642 21,318 8,324
OJIEIEXNEEH 2HRE=
29,642,000 29,642
JHERIE0ts dol28E X2 2,879 2,879 0
= 2,016
< 259
Al 604
307 elztol & 2,879 2,879 0
= 2,016
=S 259
Al 604
06 28= 2,879 2,879 0
Ot 2IE0ts doli28z A&
2.,879,000& 2,879
= 2,016
=S 259
Al 604
IS 0tEs 20t sES] XE 16,500 12,000 4,500




SN OS2SR
g OlIs=Asd
tel: Ots2s NEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 11,550
=S 1,485
Al 3,465
301 EetE2 NS 16,500 12,000 4,500
= 11,550
= 1,485
Al 3,465
01 Al EE AT S (2 RDEXA) 16,500 12,000 4,500
OdEINEE HE0ISESH A&
12,000,000& 12,000
= 8,400
= 1,080
Al 2,520
OfI0ts HEEs dE0ts2=H] X
4,500,000 4,500
= 3,180
= 405
Al 945
HERAE0S OlsE3 748l A& 1,000 1,000 0
= 700
&< 0
Al 210
301 EtE NS 1,000 1,000 0
= 700
= 0
Al 210
01 Al EEABZ2(2DEEMR) 1,000 1,000 0
OJtdRAS0ts OtsE372H A&
1,000,000& 1,000
= 700
= 0
Al 210
LAOIS ISR 112,400 126,803 14,403
= 78,680
= 10,405
Al 23,315
301 LEtE NS 112,400 126,803 14,403
= 78,680
& 10,405
Al 23,315
01 AR 2EHSHS(RDNEXRTHE) 112,400 126,803 14,403
ogtHlE X 2,700,000 2,700
= 1,890
s 406




SN OS2SR
g OlIs=Asd
tel: Ots2s NEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 405
OYAOIS YELY X2
105,600,000 105,600
= 73,920
= 9,631
Al 22,049
OYYINE YVEEZ X2
2,000,000 2,000
= 1,400
=S 180
Al 420
Og=cII2t LA 2,100,000 2,100
= 1,470
= 189
Al 441
AU 0ts ASIHE 25| 12,000 0 12,000
= 8,400
= 1,080
Al 2,520
301 EetE NS 12,000 0 12,000
= 8,400
= 1,080
Al 2,520
01 Al EE A S (2 REXMR) 12,000 0 12,000
AATYAOIE SISIIE 25| XD
12,000,000 12,000
= 8,400
= 1,080
Al 2,520
B TEHAAEC N3 38,400 48,000 29,600
s 11,520
Al 26,880
307 @I2t01 & 38,400 48,000 9,600
< 11,520
Al 26,880
11 AMEISXAEEES 38,400 48,000 29,600
O&Jls =8 2AAEC XM
38,400,000& 38,400
= 11,520
Al 26,880
AN s Ots NHEXE 12,600 14,270 1,670
= 8,820
= 1,134
Al 2,646




FA OtSES
g OlIs=Asd
tel: Ots2s NEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 12,600 14,270 21,670
= 8,820
== 1,134
Al 2,646
02 LB HANHEE 12,600 14,270 A1,670
OZAEXs ot NHEXIZ
12,600,000 12,600
= 8,820
== 1,134
Al 2,646
FHANE OlsSSEMHIA(OISES) 107,800 43,520 64,280
= 86,240
== 6,468
Al 15,092
101 e/24d| 89,556 28,520 61,036
= 71,645
= 5,373
Al 12,538
03 SRA(RIH )22+ 89,556 28,520 61,036
OltsE3dEe¥ 89,556
20 & =& 3,731,500 x2E 12 89,556
= 71,645
= 5,373
Al 12,538
201 =3 2,844 9,660 6,816
= 2,275
= 171
Al 398
01 AtR2te|HI 2,844 9,240 A\6,3%
OJARNZIt 2+
100,000 3 +53] 1,500
= 1,200
S 0
Al 210
OFAAE MY SR S|
8,0002x2&+73]x 123 1,344
= 1,075
= 81
Al 188
202 04| 4,800 2,400 2,400
= 3,840
= 288
Al 672
01 2L AL 4,800 2,400 2,400




20,152
26,000

26,000

176,884
176,884

475,809

278,504
21,227
196,230
202,884
8,964
75,352
202,884
202,884
169,200
98,136
6,768

495,961
118,568
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SN OS2SR
g OlIs=Asd
&el: Ols2Es Mg (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 64,296
—d0=s & =€ S 6,736,800 x6H 33,684
[ 20,432
= 2,19%6
Al 11,056
201 et 3| 67,582 64,582 3,000
[ 43,733
= 3,381
Al 20,468
01 AtR2t2|HI 33,390 33,390 0
OSEAEIE Atg2te| 29|
10, 180,000& 10,180
[ 8,144
= 611
Al 1,425
OSYAEIEAY BE(H0Dts HUR)
8,000,000 8,000
[ 6.400
&< 480
Al 1,120
OLEAHE HEH3tuUE S
3,000,000& 3,000
= 2,400
= 180
Al 420
OE20dy 24 X (UHEHA) gt
4,000,000 4,000
= 3,200
= 240
Al 560
O2gAda L EoX 21& =&
70,0002 * 10 *22] 1,400
s 1,120
s 84
Al 196
OAtell2tel #IHBI0IX =&
70,0002 x5 & 32 1,050
= 840
== 63
Al 147
OLEAEE g8 =8 SE|
8,000 x5 *124!x 12 5,760
= 464
< 35
Al 5,261




FA OtSES
T OIS=XET
&el: Ols2Es Mg (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 16,992 16,992 0
OCRIAEIE HMNZDZ S
6,512,000& 6,512
= 5,210
< 391
Al an
OOtSSSMHIAKIE SUHE 23
50,000 +5CH* 122 3,000
= 2,400
S 180
Al 420
OX RX Z2IHI(RR. A2, 3l S)
400,000 12& 4,800
[ 3,840
= 288
Al 672
OFeFHl FAI2=H| 140,000& * 122 1,680
[ 1,343
= 101
Al 236
03 A= SHI 18,200 15,200 3,000
OSEYAEIE T4, ABEMHIA T2 o
Ab &It 18,200,000 18,200
[ 8,372
= 728
Al 9,100
202 048l 18,800 20,600 21,800
[ 12,999
= 974
Al 4,827
01 =LHAHI 8,000 9,800 1,800
OCEAEIE 92 XX OH] L DREA
8,000,000& 8,000
[ 4,359
= 326
Al 3,315
02 X0 10,800 10,800 0
OOISSBAIIZ2IA 92 X O]
10,800,000 10,800
[ 8,640
= 648
Al 1,512
301 EetE2 N = 175,495 183,143 AT,648
[ 84,332
= 6,564
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FA OtSES
T OIS=XET
&el: Ols2Es Mg (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
) 4,800
=S 360
Al 840
401 AIEHIZ R 0HYI 2,000 2,000
01 Al&HI 2,000 2,000
OEHAEE AlE HE=H|
2,000,000+ 14 2,000
Ots otddy X 83,128 397,200 A314,072
OlSsith oY 2SA 83,128 393,200 A310,072
201 eer23| 26,640 30,440 /3,800
01 AtR2t2|HI 6,840 6,440 400
OOtssttl HIgAY =22 M&
1,200 *1,000k 1,200
Ootssih g €2 49 M
70,0003 x124] 840
OOISSIHEMH R =&l
8,000 x102 5~ 122 4,800
02 S3=gHl 19,800 24,000 A4,200
Og=Rs e SA2eH(HAZ 3,8l S
) 200,000+ 12 2,400
OOtSSHEA 28 RUE 23
50,000 =4LH =122 2,400
OOtS25E MR 3323(&I], 5,0t
A 8) 13,200,000& 13,200
OOts23E At24 R0o1AH|
150,000 « 128 1,800
202 04| 10,100 9,600 500
01 =LHO LI 10,100 9,600 500
OOtSsIHZA & B2 AR
20,0002 x5 +83|* 122 9,600
Ootssltl s e% us 0l
100,0002 6% 500
308 XM SOIE 46,388 31,000 15,388
07 M2 E = 46,388 31,000 15,388
Odclgk OisEsdE) |2 2988
46,388,000 46,388
Hees(ots2s) 480 0 480
282 480 0 480
gretsIE 480 0 480
802 gratsJIEt 480 0 480
03 JIEtEtE S S 480 0 480
OFHIAM2 38 8 Btas
12,0002 %40 480




